
Place and Face Value 
 

1. Find the value.  

a. The place value of 6 in 73,64,832            =   

b. The place value of 4 in 5,43,26,145            =   

c. The difference between the two place values of 5 in 5,43,26,145        =   

d. The sum of the place value and face value of the digit 6 in 93,60,04,010 =  

e. The product of the place values of two nines in 6,93,89002          = 

 
 
2. Write each of the following in expanded form:  

a. 87,345  

 =                 ×            +    ×       +          ×   +     × 

+       × 

b. 7,80,54,001  

=                 ×             +               ×             +              ×              +             ×             

 +            ×             +  ×             +         ×            +            × 

 

 

 
 
 
 
 
  




